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QUESTION 1

Only Terminal nodes (Graphs, Modeling, Output, Export) have a Run button as displayed in the graphic.

A. True
B. False

Correct Answer: A

QUESTION 2

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical
Measurement level?
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A A

Distribution

Web

~ o ™

Plot

D f1ake
Histogram

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 3

Which node can be used to impute (estimate) missing values?
A. Data Audit node

B. Balance node

C. Filler node

D. Reclassify node

Correct Answer: A
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QUESTION 4

The SetToFlag node creates separate flag fields for values of a categorical field. It must be followed by an Aggregate
node in order to aggregate the flag fields on a grouping field such as transaction records grouped to customer\\'s
records.

A. True

B. False

Correct Answer: B

QUESTION 5

Which node is used to read data from a comma delimited text file?
A. Var. File

B. Data Collection

C. Fixed File

D. Statistics File

Correct Answer: A
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